Hole in canopy frame

Steel clomp /csomm cord
Each en
Vinyl flap with grommet
or sewn In strap with D-Ring

anoples that have flops only, straps do not apply . rm\
Vinyl flop at conopy supports can be cut to allow £ T

bungees to pull flap and create tension on cover

Be careful not to cut vinl top
Side view of canopy

@\\4‘\

4-—Corners X 0‘

e r 5 e st A percanony

Item Part# Description 18 .\

1  HB25175THB  1/4" x 1 3/4" Truss head bolt 30 32

2 HNS25 1/4" Serrated nuts 30 32

Required on Winch side only 3  HBEI720 38" Bolt 2" long 8 8

See Below 4 HB37350 3/8" Bolt 2 1/2" long 8 8

5 HNS37 3/8" Serrated nut 12 12

6 NHCCB Steel Canopy clamp 4 4

7 NHC"R Canopy rail length is 2 shorter than canopy le **=Length 2 2

8 NMHBUNGEE™ Bungee cords **=Length 9 10

9 NHCROPEIS 1/4" Nylon rope 150 long 2 2

10 VHCLB10PWC Canopy Leg Bracket 2 2

1M1 MHONC Canopy Leg 2 1/2' X 36" for winch column 1 1

12 NMHCN\C Canopy Leg 2 1/2" X 54" for non-winch column 3 3

Jexe Ler 13 MHCB4EB End Bow, 11/4" Tube 103 34" Ig. Bent in "'C" shape 2 2
ruts DETAIL 14 NHCB4EB Intermediate End Bow, 1 1/4"' tube 100" long approx, rolled with center hole 2 2
15 NHCBAVB Vid Bow, 1 1/4' tube 100" long approximate, rolled 7 8

16 NMHC84B Brace, 316" x 1 1/2" flat bar bent on each end 2 2

17 NMHVINYL™  Canopy vinyl **=Length,Width,Color 1 1

Egﬁ_ﬁﬁsﬂif 18  HB37400 8" Bolt 4" long 1 4

ends of canopy vith rope pull tight

End view Canopy

CANOPY FRAME FOR V1684

E 402 S, Line Rd.
Metal Products RoscommonMl 48653

Scaler None |Approved by:
Date: 11/12/10

Drawn by: F S
Revised by:

V1684 CANOPY LAYOUT

Coanopy Components & Hoardware

Drawing#
A-MH-CANOPYASSYV16




